
QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price

1 MGS Beam Guard Sec., Straight, 9’ 4 1/2‘’ 200

2 MGS Beam Guard Sec., Straight, 12’ 6‘’ 200 $123.00 $123.00

3 MGS Beam Guard Sec., Straight, 15’ 7.5”’ 10 $163.00 $163.00

4 MGS Beam Guard Sec., Straight, 25’ 0” 10 $237.00 $237.00

5 MGS Radius Rail, 5-foot 5 $156.64 $156.64
6 MGS Radius Rail, 10-foot 5 $151.00 $151.00
7 MGS Radius Rail, 40-foot 5 $146.00 $146.00
8 MGS Radius Rail, 50-foot 5 $144.00 $144.00
9 MGS Radius Rail, 60-foot 5 $144.00 $144.00
10 MGS Radius Rail, 75-foot 5 $144.00 $144.00

11 MGS Thrie Beam Straight, 12’ 6” Section 5 $193.00 $193.00

12 MGS Thrie Beam Transition, 6’3” Section 5 $129.00 $129.00

13 MGS Thrie Beam Endshoe 5 $86.62 $86.62

14 Galv St Guard Rail Reflect w/ Type H 
Sheet 100 $5.75 $5.75

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
15 5/8”x 1 ¼” Splice Bolt w/ Nut 200 $0.45 $0.45
16 5/8”X  2” Post Bolt w/ Nut & Washer 50 $0.61 $0.61
17 5/8”X10” Post Bolt w/ Nut & Washer 50 $1.50 $1.50
18 5/8”X14” Post Bolt w/ Nut & Washer 50 $2.28 $2.28
19 5/8”X18” Post Bolt w/ Nut & Washer 50 $2.55 $2.55
20 5/8”X21” Post Bolt w/ Nut & Washer 50 $3.16 $3.16
21 5/8”X26” Post Bolt w/ Nut & Washer 10 $4.65 $4.65
22 1 3/4”X3” Guardrail Cut Washer 10 $0.05 $0.05

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
23 Metal I-Beam Posts – W6 x 9 - 6’ 50 $52.00 $52.00
24 Metal I-Beam Posts – W6 x 9 - 7’ 50 $60.00 $60.00
25 Metal I-Beam Posts – W6 x 15 - 6’ 50 $191.00 $191.00
26 Treated Wood Posts, 6” x 8” x 6’-6” 200 $27.75 $27.75
27 Treated Wood Posts, 6” x 8” x 8’-0” 200 $29.00 $29.00
28 Plastic Guardrail Block, 6” x 8” x 14” 50
29 Plastic Guardrail Block, 6” x 12” x 14” 50
30 Plastic Guardrail Block, 4” x   8” x 14” 50 $7.25 $7.25
31 Plastic Guardrail Block, 4” x   8” x 22” 50
32 Plastic Guardrail Block, 4” x 12” x 14” 50 $14.00 $14.00
33 Wood Post Block, 6” x 8” x 14” 50 $6.75 $6.75
34 Wood Post Block, 6” x 8” x 19” 50 $7.00 $7.00
35 Wood Post Block, 6” x 8” x 22” 50 $9.00 $9.00
36 Wood Post Block, 6” x 12” x 14” 50 $9.00 $9.00
37 Wood Post Block, 6” x12” x 19” 50 $16.00 $16.00

38 Tapered Wood Post Block, 6” x 8” x 14” 50 $13.80 $13.80

MGS Guardrail

Nuts and Bolts

Guardrail Posts and Blocks

SUMMARY - BID# 121001 
Steel Plate Beam Guards

1/14/2021

NO NOCooperative Purchasing

Department of Administration
Purchasing Division

608-266-4131
www.danepurchasing.com

VENDOR NAME Decker Supply Highway Construction Products, LLC

Local Vendor Preference YES NO

Local Content Preference NO NO



QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
39 Wrap Around Ends (round ends) 1 $50.00 $50.00
40 Flared Ends (fish tail ends) 1 $40.92 $40.92
41 Bronstad Ends 1 $168.00 $168.00
42 End Shoe (bridge connection) 1 $48.00 $48.00

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
43 Type I Anchor Assembly Complete 1 $993.00 $993.00
44 Type II Anchor Assembly Complete 1 $643.00 $643.00

45 12.5’ Rail(Special Punched for Type I&II) 1 $117.00 $117.00

46 12.5’ Rail (Special Punched for Type III) 1 $168.00 $168.00

47 Cable Anchor Box 1 $39.00 $39.00
48 Double Swaged Cable 1 $84.00 $84.00
49 Steel Tube (LG 6” x 8” x 5’) 1 $139.00 $139.00
50 1 Piece Buffered Terminal End Section 1 $170.00 $170.00

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
51 SKT 350, complete* 1 $2,815.00 $2,815.00
52 MSKT, complete* 1 $2,800.00 $2,800.00
53 S3000, Impact Head 1 $1,300.00 $1,300.00
54 MS3000, Impact Head 1 $1,300.00 $1,300.00

55 W-beam Guardrail End Section, 12 Ga.
S1303, 12’-6” Section 5 $211.00 $211.00

56 W-beam Guardrail End Section, 12 Ga.
S1305, 25’-0” Section 5

57 S730, Foundation Soil Tubes, 6”x8”x6’0” 1 $184.00 $184.00

58 MSKT - First Post Top (6x6x1/8” Tube) 
MTPHP1A 1 $139.00 $139.00

59 MSKT - First Post Bottom (6’ W6x15) 
MTPHP1B 1 $366.00 $366.00

60 MSKT - Second Post Assembly Top 
UHP2A 1 $87.00 $87.00

61 MSKT - Second Post Assembly Bottom 
HP2B 1 $168.00 $168.00

62 MSKT – Strut, MS785 1 $113.00 $113.00

63 E740,Pipe Sleeve 2” Standard Pipex5 ½” 1 $6.00 $6.00

64 E750, Bearing Plate – 8”x 8” x 5/8” 1 $24.00 $24.00
65 Short Radius Cable Box 1 $39.00 $39.00
66 S760, Cable Anchor Bracket 1 $63.00 $63.00
67 E770, BCT Cable Anchor Assembly 1 $91.00 $91.00
68 E780, Ground Strut 1 $71.00 $71.00
69 P650, 5 ½” x 7 ½” x 45” Wood Posts 1 $27.00 $27.00
70 P671, 6” x 8” x 6’-0” Wood CRT Posts 1 $28.00 $28.00
71 P675, 6” x 8” x 14” Timber Blockouts 1 $9.00 $9.00
72 E3151, Impact Face Object Marker 1 $30.00 $30.00
73 B580754, 5/8” x 7 ¼” Hex Bolts 1 $2.00 $2.00
74 B581004, 5/8” x 10” Hex Bolts 1 $2.00 $2.00
75 B581002, 5/8” x 10” HGR Post Bolt 1 $2.00 $2.00
76 B581802, 5/8” x 18” HGR Post Bolt 1 $2.55 $2.55
77 N050, 5/8” HGR Nuts 1 $0.45 $0.45
78 W050, 5/8” Flat Washer 1 $0.30 $0.30
79 N100, 1” Anchor Cable Hex Nuts 1 $1.50 $1.50
80 W100, 1” Anchor Cable Washers 1 $0.75 $0.75

81 SB58A, Cable Anchor Bracket Shldr Bolts 1 $42.00 $42.00

82 N055, ½” A325 Structural Nuts 1 $0.35 $0.35

83 W050A, 1-1/16” OD x 9/16” ID, A325     
Structural Washer 1 $0.30 $0.30

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price

End Sections

Type I and II Anchorage

SKT 350 & MSKT End Treatments

Trinity Thrie-Beam Bullnose Parts



84 12379G Slotted Threibeam, 12.5’ - 5’ rad 1 $656.00 $656.00

85 12385G Slotted Thriebeam, 12.5’–34’rad. 1 $587.00 $587.00

86 12383G Slotted Thriebeam,12.5’slotted rail 1 $414.00 $414.00

87 209G Thriebeam, 12’6” Section 1 $193.00 $193.00
88 729G - 6” x 8” x 8’ Tube Sleeve 1 $225.00 $225.00
89 749G - 6” x 8” x 6’ Tube Sleeve 1 $184.00 $184.00

90 6115B – 5.5” x 7.5” x 3’10” Treated Posts 1 $27.00 $27.00

91 6669G - 5/8” x 14’4” Nose Cable 1 $171.00 $171.00
92 19361G - Nose Cable Anchor Plates 1 $48.00 $48.00

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
93 Nose Piece 1
94 Wide Nose Piece 1
95 Type A Energy Absorbing Cartridge 1
96 Type B Energy Absorbing Cartridge 1
97 Single Slider Panel 1
98 Pipe Panel Mount 1
99 Lateral Support Cable per Foot 1

100 Single X Bulkhead 1
101 Double X Bulkhead 1
102 Triple X Bulkhead 1

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
103 Yellow Nose Assembly 1 $875.00 $875.00
104 Type I Cartridge 1 $860.00 $860.00
105 Type II Cartridge 1 $895.00 $895.00
106 Fender Panel 1 $760.00 $760.00
107 Monorail 1 $860.00 $860.00
108 Diaphragm 1 $1,125.00 $1,125.00

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
109 Yellow Nose Assembly 1
110 Energite III 1400# Container, Model 640 1 $360.00 $360.00
111 Energite III 2100# Container, Model 960 1 $360.00 $360.00
112 Energite III 200/400# Inner Cone 1 $130.00 $130.00
113 Energite III 700# Inner Cone 1 $130.00 $130.00
114 Black Lid 1 $130.00 $130.00

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price
115 5/16” Hex Nut A563,  #3245G 1 $0.31 $0.31
116 5/16”X2” Hex Bolt Grd 5, #3248G 1 $1.60 $1.60
117 Cass Cable Spacer TL3, #5700B 1 $9.00 $9.00

118 Cass CBL SPCR TL3 Ref Yellow #5701B 1 $9.55 $9.55

119 Cass Post StrapS4 TL3/4, #5707T 1 $8.25 $8.25
120 Cass Dust Cover S4 Post, #5708B 1 $8.50 $8.50
121 Cass Cbl Int 1000’ LT/RT, #5816G 1 $3,900.00 $3,900.00
122 Cass Cble Term 54’4 LT/RT, #5817G 1 $290.00 $290.00
123 Cass Cbl Term 48’1 LT/RT, #5818G 1 $272.00 $272.00
124 Cass Cbl Term 41’10 LT/RT, #5819G 1 $256.00 $256.00
125 Cass Lock Bolt 5/16”, #5825G 1 $0.40 $0.40
126 Cass 5/16” Rnd Wshr F436, #5831G 1 $0.20 $0.20
127 Cass 5/16” Hx Nut SAE GR5, #5832G 1 $0.25 $0.25
128 Cass Sleeve Cover S3 Post, #5839B 1 $8.50 $8.50
129 Cass-Cbl Brkt for CRP PST, #33909G 1 $26.00 $26.00
130 CCT Line Post S3x5.7 5’3, #33910G 1 $83.00 $83.00
131 Cass-CRP-Upper Post 2’0, #33935A 1 $317.00 $317.00
132 Cass-TL3 Spost 3’-11 ¼, 1 $183.00 $183.00

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price

133 CBD041HDG
Line Post, 48.42” (50 post minimum qty)

1 $52.80 $52.80

Cass Cable Guard Parts

Safefence Cable Guard Parts

Universal Tau Crash Cushion

Quad-Guard Systems

Energite Crash Systems



134 CBD043HDG
Stiffening Plate, HDG (A-123) 1 $6.60 $6.60

135 CBD010
Plastic Cap 1 $6.82 $6.82

136 CBD011
Stiffening Clamp, 304SS 1 $7.26 $7.26

137 CBD042
C-Hook, 304SS 1 $2.14 $2.14

138 CBD020
Plastic Spacers, 1-3/16”x3-5/32” (3/Post) 1 $1.80 $1.80

139 CBD009
Plastic Foundation (Socket) Cover 1 $3.52 $3.52

140
CBD040HDG 
Cable Post Steel Sleeve, 16ga.,
1.375” x 4” x 17.7”, HDG

1 $20.48 $20.48

141
CBDRS – Yellow-Tysh
Reflective Sheet Yellow, Type SH,
1.75” x 4.625”

1 $6.32 $6.32

142 CBD024HDG
Tensioning Clamp, HDG (A-123) 1 $32.45 $32.45

143 CBD023
Cable Swedged End Fittings 1 $81.40 $81.40

144
3x7 Cablewire
Cable, ¾”, Class A, EH5
3x7, GRC, ASTM-741 (2,000’ spool)

1 $5,500.00 $5,500.00

145 CBD018HDG
Anchor Box with rebar loops, HDG (A-123) 1 $585.20 $585.20

146
CBD028
Check Rope, 3/8” diam. X 66”, 6x26 1 
WRC, Wire Rope

1 $76.45 $76.45

147 CBD028HDG 
Safety Shackle, 5/8”, HDG (A-123) 1 $55.66 $55.66

148
1054G
7/8-9 Hvy Hex Nut, A563, DH, HDG (A-
153)

1 $1.32 $1.32

149 1053G
7/8” Flat Washer, F844 1 $0.88 $0.88

QTY Pick Up Price Delivered Price Pick Up Price Delivered Price Pick Up Price Delivered Price

150 Attenuator-Test Level III w/ Concrete 
Anchors – WisDOT APL Item 1

151 Attenuator-Test Level III w/Asphalt 
Anchors – WisDOT APL Item (list below) 1

152 Transition  Jersey Barrier - Right 1
153 Transition  Jersey Barrier - Left 1
154 Bolt Shear 1
155 Panel Delineator (Painted Yellow)  1
156 Panel Delineator (Painted Black)  TL3 - 1

157 Panel Delineator Diamond Grade Chevron 
6” Stripes TL3 1

158 Panel Delineator Diamond Grade Left 
Shoulder 6” Stripes TL3 1

159 Panel Delineator Diamond Grade Right 
Shoulder 6” Stripes TL3  1

160 Panel Side  TL2 & TL3  1
161 Panel Sled  1
162 Panel Rear 1
163 Keeper Side (Sled Panels)  TL2 & TL3 1

164 Keeper Side #1  (Side Panels)  TL2 & TL3 1

165 Keeper Side #2  (Rear Panels)   TL2 & TL3 1

Attenuators - Test Level III



166 Reset Parts Kit TL3 1

Comments #107 - Price is for 1 Section    
#108 price is for 24" diaphram   
#109 There is no yellow nose 

assembly for this system. No Deviations


	Sheet1

